
0 
1-
_J 

0 

u 

Cf) 
w 

0:: 
I-­
Cf) 
:) 
0 
z 

C) 
z 

0:: 
w 
w 
z 

C) 
z 

w 

<( 
1-
_J 
:) 
C) 

L-A Type
Crossarm 

Machine bolt 
M20X260 
Code: 997 0408 

Plain washer M20 
Code: 997 047 0 

Hexagon nuts M20 
Code:9970409 

....______ Machine bolt 
M20X50 
Code:9910406 

Brace 

Crossarm 
Code: 25007 

Spring washer M20 
Code 997 0411 

Machine bolt 
M20X240 
Code 997 0407 Code : 25004 - 2 

Brace 
Code · 25004 - 7 

This attachment file covers the important information about the L type crossarm for used in 

overhead line of 11KV Also, it's clarified the mechanical specifications properties for each 

part in the crossarm such as brace, bolt, nuts, and washer, etc. 

Name Code Size (mm) 

Crossarm 25001 80x80x8xl800 

Brace 25004 40X40X6X615 

9910407 M20X240 
Machine Bolt 

9910406 M20X50 

Hexagon nuts 9910409 M20 

Plain washer 9910410 M20 

Spring washer 9910411 M20 

Type of material 

Steel galvanizing 

engineering .g u lta. I y 












